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Instructions :
1) Write in a clear legible handwriting.

2) This question paper has four Sections A, B, C & D and Question Numbers
from 1 to 54.

3) All questions are compulsory. There are only internal options.
4) The numbers to the right represent the marks of the question.
5) Draw neat diagrams wherever necessary.

6) New sections should be written in a new page. Write the answers in numerical
order.

SECTION - A

From question numbers 01 to 24, answer all questions as directed.
[Each question carries 1 mark] [24]
Fill the blanks making the following statements true.

1) Due to the process of corrosion, colour coating is seen on silver.[1]

2) Alkane which has eight carbon atoms, has number of hydrogen
atoms. ' [1]

3) Deficiency of hormones in childhood leads to Dwarfism. [1]
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4)

5)

6)

S - 1407

When Tall pea plant (TT) and Short pea plant (tt) were hybridized, it
produced all tall progeny because tallness is trait? [1]

1 kWh = Joule (J). [1]

As shown in the figure, the given pyramid shows different Trophic Levels.
Trophic Level will receive maximum amount of energy. [1]

Write ‘True’ or ‘False’ for following statements.

7) Methanoic acid is responsible for inflammation from Nettle sting.  [1]

8) Salivation, Blood pressure and Vo%niting are voluntary actions. (1]

9) Hibiscus has unisexual flowers. [1]

10) In Domestic electric circuits, live wire has red insulation cover. 1]
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